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Please watch the following videos and answer the following

questions

https://youtu.be/KWTB-rYDg9c
https://youtu.be/QgKINL9AWhE
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v/ 10. The angle of elevation pf the sun when the length of the shadow of a 1/1
tree is v3 times the hight of the tree is 7 *
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v/ 1. Fromapoint'P'on alevel ground the angle of elevation of the top of 1/1
a tower is 30°. If the tower is 100m hight the distance of point 'P' from
the foot of the toweris ? *
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v/ 12. The angle of elevation of ladder leaning against a wall is 60° and the  1/1
foot of the ladder is 4.6m away from the wall. The length of the ladder is?

*

@® 92m v
() 10m
() 122m
() 84m

v/ 13. An observer 1.6m tall is 20v3 meter away from a tower. The angle of  1/1
elevation from his eye to the top of the tower is 30°. The hight of the
tower is *

20m
21.6m v

22 m

O 0O ® O

18.4m



v/ 14. The angle of elevation of the top of a tower from a certain point is 1/1
30°. If the observer moves 20m towards the tower, the angle of elevation
of the top of the tower increses by 15°. The height of the tower is ? *
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